At Bishop Bronescomhe C of E School owr aim is:

1. We ALL start on the joumey togethe: 4. Children will net he racing off ahead

on a different jowney.

!

5. Children will not he left behind, alone,
isolated, and. disinterested.

!

6. ALL children will have an adventure,
the group, to continue on with the = _‘ uwtukmg'msmnum , incremental. steps to get to
i We're Going on a Maths Hunt @ ning point.

2. Some children will need additional
support along the way. e

=

“:,—,f:\_. ,_:
l 63‘ a4\ s »

i
3. Some children, who feel confident, will -
he let louse. They will he able to explore ‘[\
SN -

deeper into the woods hefore returning to

£éa
4y

The following pages show the Maths progression in calculation (addition, subtraction, multiplication and, division) and how this. works in line with the
National Cwriculum. The consistent use of the C-P-A; make it using equipment (concrete) , drow it to explain ( pictorial) and then use the calculation/formal

methods ( abstract) approach across Power Maths helps. children develop mastery across all the operations in an efficient and. reliable way. This policy shows.
how these methods. develop. children's confidence in their understanding of hoth written and mental methods. MASTERING MATHS is our aim for ALL of our
children. Al children are mathematicians; they just need to find the ways to help them.
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KEY STAGE 2

accurate and efficient operations.

In upper Key Stage 2, children build on secure foundations in calculation, and develop fluency, accwracy and flexibility in their approach to the four
operations. They work with whole numhers and adapt their skills to- work with decimals, and they continue to develop their ahility to select appropriate,

square numhber, cube numher

Key language: decimal, column methods, exchange, partition, mental method, ten thousand, hundred thousand, million, factor, multiple, prime number,

Addition and subtraction: Children build on their
column methods to add and subtract numhbers
vulue at every stage.

Children compare and contrust methods, and they
select mental methods or jottings where
appropriate and where these are more likely to he
column methods.
Barmudd&amusedborepmsenttlwoaiwiaﬂmw

Multiplication and division: Building on their
understanding, children develop methods to
2-digit numbers.

Children develop column methods with an

by 10, 100 and 1,000.

Written division methods are introduced and
adapted for division by single-digit and 2-digit
model and place value. In Year 6, children
develop a secwre understanding of how division is
related to fractions.
Multiplication and division of decimals are also
introduced and refined in Year 6.

Fructions: Children find fractions of amounts,
multiply a fraction by a whole number and, by
another fraction, divide a fraction by a whole
different denominators. Children become more
Understanding of decimals with up to 3 decimal
places is built through place value and as
fractions, and children calculate with decimals in
the context of measwre as well as in pure
Children develop an understanding of percentages
in relation to hundredths, and they understand,
how to- work with common percentages: 50%,
25%, 10% and 1%.
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Year 5

Concrete Pictorial Abstract
Year 5
Addition
Column Use place value equipment to represent Represent additions, using place volue Use column addition, including exchanges.
addition with | additions. equipment on a place value grid alongside
whole numhers written methods. AL I
Add a row of counters onto the place value 1 4 128
. +1 8 4 1 7
grid to show 15,735 + 4,012. L5 ik b i o
(15 @ OOOO0 000 3 7 5 9 2
| |
TTh Th H T 0 @ eOeOe® OO0 00000
® ©0000 ::... OO0 |00000 eeee ©0
I need to exchange 10 tens for a 100.
TThTh H T ©
2 0 1 5 3
£1 9 1 75
3 93 2 8
|
Representing Bar models represent addition of two or Use approximation to check whether
additions more numbers in the context of problem answers are reasonahble.
solving.
i TThTh H T © TThTh H T ©
[ easa | £28,370 | 6725 | 2 8440 3 22405
+ 7 8 9 2 + 7 8 9 2
2 0 2 9 7 3 1 2 9 7
Holly [ £2,600 '£|.450]
. e o ‘ I will use 23,000 + 8,000 to check.
ThHTO ThH T O
2 6 00 2 6 00
+1 450 +4 050
4 050 6 6 50
Adding tenths | Link measure with addition of decimals. Use a bar model with @ number line to-add | Understand the link with adding fractions.
tenths.
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Two lengths of fencing are 0-6 m and
0-2m
How long are they when added together?

0-6 m

|

0-2m

L

1

[
[0-|m|0-|m|0-Im|0~|m|0-|m‘0-1m|0-|m|0-|m]

6 2 8

10 10 10

6 tenths + 2 tenths = 8 tenths

0:6m 02m 06 +02=08
(l) Ol-l OI-Z Ol-3 Of4 Ol-5 0:6 Ol-7 0:8 qu ;
06 +02-=08
6 tenths + 2 tenths = 8 tenths
Adding Use place volue equipment to represent Use place value equipment on a place value | Add using a column method, ensuring that
column value.
addition Show 0-23 + 0-45 using place value Represent exchange where necessary.
counters. _O -Tth Hth
0 Tth Hth O - Tth Hth 0=2 B
o ee 0-9 2 |*+0 -4 5
OO +0-3 3 0~ &
000 | [eee® L 25 | Include exchange where required, alongside
Include examples where the numbers of 2+hH2th
decimal places are different. +0-3 3
-2 5
0 Tth Hth O - Tth Hth ' .
00000 5.0 0 Indudzaddxﬂnn&whmﬂwnumbmof
® o0 00000 * é ; 2 decimal places are different.
34 +065=7?
0 - Tth Hth
3.4 0
+0-6 5
Year 5
Subtruction
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Use place value equipment to understand
where exchanges are required.

2,250 - 1,070

Represent the stages of the calculation using

place value equipment on a grid alongside

the calculation, including exchanges where

required.

15,735 - 2,582 = 13,153

TTh Th H i O | TThTh H T ©
8 0000000000 000 ooou‘ I'57 35
et - 2 5 8 2
3
Now subtract the 10s. Exchange | hundred for 10 tens.
TTh Th H [ T [ o | TThthH T ©
o ©O000 ocooo 000000088 ' 5 7 '3 5
BLBLD - 25 8 2
(1]
5 3
Subtract the 100s, 1,000s and 10,000s.
s T o | TThth H T O
]
° oom ﬁio T 157135
oo Q - 2 5 8 2
Ll 1 3 1 5 3

Use column subtraction methods with
exchange where required.

TThTh H T
%27 0 4
3
6

-1 8 5
4 3 5

w| N V|0

62,097 - 18,534 = 43,563

Checking
strutegies and

Bar models represent subtractions in
problem contexts, including ‘find the

Athletics Stadium [ 75,450

?

Hockey Centre 42,300

Velodrome

Children can explain the mistake made
when the columns have not been ordered
correctly.

("Bella’s working ) Correct method
TThTh H T O TThTh H T O
7 82 17 8 7 7

+4 0 | 2 + 4 0 1 2
6 7 9: 9u F 2 | 8 8 9

Use approximation to check calculations.

I calculated 78,000 + 4,000 mentally to
check my subtraction.

Chovsing

To subtruct two large numhbers that are
counting on.
2,002 - 1,995 = ?
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+5 +2
YN
1,995 2,000 2,002
Use addition to check subtructions.
I calculated 7,546 - 2,355 = 5,79].
I wWill check using the inverse.
Subtructing Explore complements to a whole number by Usea,plu,cevuluzgnd,torepresenbth@ Use column subtraction, with an
574 -225=7
3921 - 375 =7
o . Tth Hth O - Tth Hth
00000 . KOOOL | 00ed 5 =1 4 O - Tth Hth Thth
OO Hacd B 3 .9 2 |
Exchange | tenth for 10 hundredths. - - 3 . 7 5 0
o ® Tth Hth O - Tth Hth
00000 COOCOC 00008 s -7 4
. |©@ 00000 - > > s
PEe® :
Now subtract the 5 hundredths.
0 ° Tth Hth O - Tth Hth
00000 CCOOC 0000®| 5 7 '
. |©@ 00ees| -2 -2 5
PAOE -
Now subtract the 2 tenths, then the 2 ones.
O ° Tth Hth O - Tth Hth
00089 |OCOOCOY 000e® 5 7 '4
. @@ 000es| -2 -2 5
PEEOE 2«& 9
Year 5
Multiplication
Understanding | Use cubes or counters to explore the Use images to explore examples and non- Understand the pattern of square numhers
factors meaning of ‘square numbers. examples of square numbers. in the multiplication tables.
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25 is a square number because it is made
from 5 rows gf 5.

Use cubes to explore cube numhers.

N
e

8 is a cube number;

8 x 8 =64
& = 64

12 is not a square number, because you
cannot multiply a whote number by itself to
make 12.

Use a multiplication grid. to circle each
square numhber. Can children spot a patterm?

Multiplying by | Use place value equipment to- multiply by Understand the effect of repeated Understand how exchange relates to the
10, 100 and 10, 100 and 1,000 hy unitising. multiplication by 10. digits when multiplying by 10, 100 and,
1,000 1,000.
4x|=4ones=4 o o o o
4 x 10 =4tens =40 CITTIIIIT  CCITITTITD COTITTTCTY  CTTTTTITTD H T (@)
4 x 100 = 4 hundreds
=400 | 7
17 x 10 = 170
17 x 100 = 17 x 10 x 10 = 1,700
17 x 1,000 = 17 x 10 x 10 x 10 = 17,000
Multiplying by | Use place value equipment to explore Use place value equipment to represent how | Use known facts and unitising to- multiply.
multiples of 10, | multiplying by unitising. to multiply by multiples of 10, 100 and
100 and 1,000 1,000. 5x4 =20
5 x 40 = 200

5 x 400 = 2,000
5 x 4,000 - 20,000
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coos 2822
—— 0000 ®eee® | 2000 x4 =20,000
=& e bt
0000 0000
5 groups of 3 ones is 15 ones.
. 4 x3=172 6 x 4 =24
5 groups of 3 tens 515 tens. 4 x 300 = 1,200 6 x 400 =
So; I know that 5 groups of 3 thousands 2,400
would be 75 thousands.
Multiplying up | Explore how to use partitioning to- multiply | Represent multiplications using place value | Use an area model and then add the parts.
to 4-digit efficiently. equipment and add the 1s, then 10s, then
numhers hy a 100s, then 1,000s.
single digit 8x17=7 100 60 3
m T 5 5| 100x5=500 | 60x5=300 | 3x5=I5
gI3sseeess) (g3sssss) o soooceee e e, i
o U% a . . . , . .
0000000000 (0000000 | 5 ) renuirod, exthanges. o
0000000000 (0000000 '
0000000000 0000000
0000000000 0000000  © o0 8%
0000000000 (0000000 © X
0000000000 0000000 OO0 8 |
8 x10=80 8x7=56 23
80 + 56 = 136 ¢ 000
So, 8 x 17 = 136
Multiplying 2- | Partition one number into 10s and 1s, then | Use an area model and add the parts. Use column multiplication, ensuring
digit numhers | add the parts. understanding of place volue at each stage.
by 2-digit 28 x15=7
numhers 23 x75=7
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3xI15=45

There are 345 bottles of milk in total.

23 x 15 =345

o N RV, B |

10 x I5 =150

vulun o o0

10 m

20 m

8m

20 x 10 =200 m?

8 x 10 = 80 m?

20 x 5 =100 m?

8 x 5 =40 m?

28 x 15 = 420

34

x D7

238 34x7

NI~ 0 O Ofd

o|lo o o o0

34

238 34x7
680 34x20

238 34x7
680 34x20
9 1 8 34x27

Multiplying up
to 4-digits by
2-digits

Use the areas model then add the parts.

100 40

143 x 12 = 1,716

There are 1,716 boxes of cereal in total.

143 x 12 = 1,716

N N O

w oo o o olH

w oo

143 x 10

ol oo o o o|0

3
2
6 143 x 2
0
6 143 x 12

Progress to include examples that require

multiple exchanges as understanding,

1,274 x 32 = ?

First mudtiply 1,274 by 2.
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7 4
3 2
4 8 1,274 x 2
2 0 1,274 x 30

1,274 x 30
1,274 x 32

4
2
8 1,274 x 2
0
8

3
4

|
1,274 x 32 = 40,768

Multiplying Use place value equipment to explore and Represent multiplication by 10 as exchange | Understand how this exchange is
decimals by 10, | understand the exchange of 10 tenths, 10 on a place value grid. represented on a place value chart.
100 and 1,000 | hundredths or 10 thousandths.
] Th|H|[ T | O |e]|Tth
2 | o5
2:5x 10 = 25 5 Ko
© ; = o
. 2:5x 100 =250 23125910
© 2:5x1,000=2500 | 2] 5 M I
J | ©
® OGO
0-14 x 10 = 14
Year 5
Divisi
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Understanding | Use equipment to explore the factors of a Understand, that prime numhers are Understand how to recognise prime and,
factors and given, numher. numhers with exactly two factors. composite numbers.
prime numhers
oot ese 13+71=13 I know that 31 is a prime number because it
00000000 13+2=6r17 can be divided by only 7 and itself without
24 +3=8 13+4=41r17 leaving a remainder:
24+8=3
8 and 3 are factors of 24 because they 1 and 13 are the only factors of 13. I know that 33 is not a prime number as it
divide 24 exactly. 13 is a prime number. can be divided by 1, 3, 11 and 33.
24 5=4remainder4, I know that 1 is not a prime number, as it
83829 has only 1 factor
00000
00000
0000
5 is not a factor of 24 because there is a
la]m‘lde]:
Understanding | Use equipment to group and share and to Represent multiplicative relationships and Represent the different multiplicative
inverse explore the calculations that are present. explore the families of division facts. mmmlslup&wmprcblun&reqwmg
operutions and inwverse operations.
the link with I have 28 counters. (e000)(0000)(0000)(0000)(0000) 2:+3=
e r
multiplication, _ (eeee)(000e)(e0oe) (e0ee) (@e000) 2+( =3 o
grouping and | 7/ made 7 groups of 4. There are 28 in total. (soee) (@eee) (@eee) (@eee) (@eee) (xz-n 3.5
I have 28 in total. I shared them equally 60 54 - 15 e
into 7 groups. There are 4 in each group. e
60 +15=4 Understand missing numhber problems for
I have 28 in total, I made groups of 4. There dm&nnoalculaﬂmww@knowhowbosom
are 7 equal groups. ZuzLe'_'_L ?ws_uZLg nwerse operations
22:2=7
?:2=22
P:22=2
Dividing whole | Use place value equipment to support Use a bar model to support dividing by Understand how and why the digits change
nuwmhers by 10, | unitising for division. unitising. on a place value grid when dividing by 10,
100 and 1,000 100 or 1,000.

Power Maths © Pearson 2019
Copying permitted for purchasing institution only. This material is not copyright free. Pearson is not responsible for
the quality, accuracy or fitness for purpose of the materials contained in the Word files once edited.

11



4,000 = 1,000

4,000

7
oo x (]

4,000 is 4 thousands.

4 x 1,000= 4,000

So; 4,000 =+ 1,000 = 4

380 = 10 = 38

Th H il O

380 is 38 tens.
38 x 10 = 380
70 x 38 = 380
So, 380 = 10 = 38

] | (2] | (9]

3,200 = 100 = ?

3,200 is 3 thousands and 2 hundreds.
200 + 100 = 2

3,000 + 100 = 30

3,200 + 100 = 32

So; the digits will move two places to the
right.

Dividing by
multiples of 10,
100 and 1,000

Use place value equipment to represent Represent related facts with place value
| facts and unitising. . hen dividing by unitising.
) R ERE e
7777777777 ) | | e siaasses] R aaaasasas

EEEREPTRETY OITTTTTITY | =2 0 i

75 ones put into groups of 3 ones. There are

5 groups.
15+3=5

15 tens put into groups of 3 tens. There are 5
groups.

150 =30 =5

180 is 18 tens.

18 tens divided into groups of 3 tens. There
are 6 groups.

180 -+ 30 = 6

Reason from known facts, hased on
understanding of unitising. Use knowledge
of the inverse relationship to check.

3,000 = 5 = 600
3,000 + 50 = 60
3,000 + 500 = 6

5 x 600 = 3,000
50 x 60 = 3,000
500 x 6 = 3,000
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12 ones divided into groups of 4. There are 3
groups.

12 hundreds divided into groups of 4
hundreds. There are 3 groups.

71200 = 400 = 3

Dividing up to
fowr digits by a
single digit

EXW grouping using place value
equipment.

268 +2 =7

There is 1 group of 2 hundreds.
There are 3 groups of 2 tens.
There are 4 groups of 2 ones.

264 =2 =134

Use place value equipment on a place value
The model uses grouping.
A sharing model can also he used, although

T o}

4% 8 COOCO
000,

n T 0
4 r s [©OOE) :::..
.

0
44

=

Lay out the problem as a short division.

There is 1 group of 4 in 4 tens.
There are 2 groups of 4 in 8 ones.

Work with divisions that require exchange.

Use short division for up to 4-digit numhbers
divided by a single digit.

055 6
73 38 3q %

3,892 = 7 = 556
Use multiplication, to check.
556 x 7 =7

6 x7=42

50 x 7 = 350

500 x 7 = 3500

3,500 + 350 + 42 = 3,892
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T 0 First, lay out the
blem.
sfa 2 |[0OOOC0 provem
T 0 Howqmony?groups of 4 go
int tens?
4 ,2 W%o into 9 tens
(XD 2 groups of 4 tens with | ten
left over.
2 T o) Excht;ngeothe I ten left
4[q 12 ..... over for |10 ones.
@OE0E 1@@@@®| We now have 12 ones.
[0}
2 T [ 0o How many groups of 4 go
419 0l0 O[O into 12 ones?
0000 Egg‘ 3 groups of 4 ones.

Understanding

Understand remainders using concrete
versions of a problem.

80 cakes divided into trays df 6.
- o0 0@ ° 00 oo o0 o0 00 00 00
S 11 Riliiiiill

80 cakes in total. They make 13 groups of 6,

th 2

Use short division and understand
remainders as the last remaining 1s.

T [e) Lay r(])L,itt'c:{l.e 'p.roblem
as short division.
sl 0 @EEEE®
000,
| T o _Hct)wgnlcny_’g roups of 6 go
- into 8 tens?
6(8J°0 oo ,
O®E) There is | group of 6 tens.
There are 2 tens remaining.
NEews !—lowzmuny g:oups of 6 go
6 |—8 % into 20 ones?
There are 3 groups of 6
ones.
There are 2 ones remaining.

683 =136 x5 +3
683 =5 =17136r3

Dividi

100 and 1,000

decimals by 10,

Understand, division by 10 using exchange.

2 ones are 20 tenths.

Represent division using exchange on a
place value grid.

Understand the movement of digits on a
place value grid.
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20 tenths divided by 10 is 2 tenths,

0 -
) s
0 .
‘. -
0 .
7-5 is 1 one and 5 tenths.

This is equivalent to 10 tenths and 50
hundredths.

10 tenths divided by 10 is 1 tenth.

50 hundredths divided by 10 is 5
hundredths.

15 divided by 10 is 1 tenth and. 5
hundredths.

7570 =0.75

O [e[Tth] Hth [ Thth
8] s
0 [P0 M8 s

o
.

0-85 # 10 = 0-085

O | e |[Tth| Hth | Thth

o]
]
)
w1
/]

~38 T35

85+ 100 = 0-085

Use sharing to explore the link hetween

1 whote shared between 3 people.
Each person receives one-third.

@ 75%

.-

f“
Q

a\=
|6

i opaly
L4 =4

&=
r

fR

) &

&
"

L

Concrete

Use a bar model and, other fraction
representations to show the link hetween

o

w

Il
wi—

Year 6

Pictorial

to calculate divisions.

11 =4 = —23
T 4 T4

Abstruct
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Year 6
Additi
Comparing and | Represent 7-digit numhers on a place value | Discuss similarities and, differences hetween | Use column addition where mental methods
selecting grid, and use this to support thinking and methods, and choose efficient methods are not efficient. Recognise common errors
methods Compare written and mental methods
—= ”H;h. .TT" — — e alongside place value representations. 32,745 + 4,302 = ?
+3,000 +500 +20 +2 TThTh H T O TThTh H T
} } } } } 3 2 | 4 5 3 2 | 4 5
40,265 43,265 C] D D + % 3 0 2 + 4 3 0 2
e % mamu T o 3 6 4 4 7 7 5 1 6 5
©000 ‘oo 8®®®®’..... 4 g i g ;
eoe |eeeeeoc  |oe Which method has been completed
accurately ?
Use bar model and number line .
tations to- model, addition, in What mistake has been made?
Column methods are also used for decimal
+1 hour additions where mental methods are not
/_\“‘/m%“ efficient.
f t t H T O -Tth Hth
12:05 13:05 1313 4 0-0 9
+ 4 9 -8 9
I 8 9 -9 8
|
Selecting Represent 7-digit numhers on a place value | Use a har model to support thinking in Use place value and unitising to support
mental grid, and use this to support thinking and, addition problems. mental calculations with larger numhbers.
larger numhers 257,000 + 99,000 = ? 795,000 + 6,000 = ?
..M ..H;h. .TTh o = ..: : o =
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where ? 795 + 5 + 1 =201
appropriate 2,471,301 + 500,000 = ? : \

( £257,000 ] £100000 ) | 195 thousands + 6 thousands. = 207
This would be 5 more counters in the HTh thousands
place. I added 100 thousands then subtracted

7 thousand. So, 195,000 + 6,000 = 207,000

So, the total is 2,971,301.

257 thousands + 100 thousands = 357
2,411,301 + 500,000 = 2,911,301 thousands

257,000 + 100,000 = 357,000
357,000 - 1,000 = 356,000

So, 257,000 + 99,000 = 356,000

Understanding | Use equipment to model different Model calculations using a bar model to Understand, the correct order of operations in
order of interpretations of a calculation with more demonstrate the correct order of operutions | calculations without brackets.
operutions in than one operation. Explore different results. | in multi-step calculations.
calculations Understand how hrackets affect the order of
3x5-2=72 e operations in a calculation.
00y 000 b (LT
o SI®IN 00 eleje }? 446 %16
O® OO trailer !GIGIG|6|6|6l6|6|6|6|6|6|6|6|6|6]] 4+ 96 =700
I8N 18I 16 x 6
O® O@ This can be writtenas: 16 x 4 + 16 x 6 (4 +6) x 16
(16 x4)+(6x6) 10 x176 =160
W) 3-2 646 + 96 =160
ke e
Year 6
Subtruction
Comparing and | Use counters on a place value grid to Compare subtraction methods alongside Compare and select methods.
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efficient Use column subtraction when mental
Mst' Th l H T ] i -30 -500 rnww'd& are not qTLCLQnt
ee 0VVVY OOOON| 00000 P : : Use two different methods for one
' ®® .‘.. 2,145 2,149 2,179 2,679 . .
calculation as a checking strutegy.
Th H T (0]
€@ 9BV OOCOR 00000 i = —
® SR LLLLl -1 5 5 8 W—\
Tzh : ; 2 # 4 4 1552 1,558 1952
- 534
2 | 4 5 Use column subtraction for decimal
problems, including in the context of
Use a bar model to represent calculations, measure.
s f s H T O -TthHth
comparisorn. e T 6
-2 0 6-4 0
[ computer game ] I 0 3 -2 o0
puzzle book i £12:50 >
Subtructing Use a bar model to show how unitising can | Subtract efficiently from powers of 10.
larger numhers 70,000 - 500 = ?
950,000 - 150,000
That is 950 thousands - 150 thousands
( 450
150 800 %
So, the difference is 800 thousands.
950,000 - 150,000 = 800,000
Year 6
Multiplication
Multiplying up | Use equipment to explore multiplications. Use place value equipment to- compare Understand area model and short
to a 4-digit methots. multiplication.
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numhber by a Th H i o Msthod |
single digit 0 (000 (0000 (00000 SEEBESE9N8S) ;2 S Compare and select appropriate methods for
| dig @® ®0® |OOOG OO ©ee 06 - 00000 3225 specific multiplications. f
©e 000 (OOOO 000 ©00000000000) 3225
.’ ..' @@@ ..“. (.....@@.....).,_ 3225 o
12900
[ 12 3,000 200 20 5
4 groups 0][2’345 Method 2 4| 12,000 |800| 80 | 20 |
T/us/ IS/ a .. . 12,000 + 800 + 80 + 20 = 12,900
rmudtiplication:
4 x 2,345 Method 4
2,345 x 4 43,000 4x200 4x20 4x5 " 22 2
12,000 + 800 + 80 + 20=12,900 —_—
12900
Multiplying up Use an area model alongside written Use compact column multiplication with
to a 4-digit multiplication. understanding of place value at all stages.
numher by a
z_djgibnumb” Method | I 2 35
1,000 200 30 5 . 2 1
20 (20,000 | 4,000 | 600 | 100 tag o lalebs
2 4.7 00 20x1235
Il 1,000 | 200 30 5 2 59 3 5 2x1235
| 2 8 5
x 2 |
5 Ix5
30 I x30
2 00 1x200
1000 I'x 1,000
1 00 20x5
6 00 20 x 30
4 0 0 0 20 x 200
2 0000 20 x 1,000
25 9 315 21 x 1,235
Using Use equipment to understand square Compare methods visually using an area Use a known fact to generate families of
knowledge of numbers and cube numhers. model. Understand that multiple approaches | related facts.
compare
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methods for

P2 S
esesesc0
ORloe=Cal 0
NNONGZE
NN Z@%
NN G
ngaag
S5x5=58 =25

S5x5x5=5 =25x5=]25

5.200 5.000 200
20 | 5,200 x 20 25 [ 5,000 x 25 | 200 x 25
5| 5200x5

5,200

5,000 200
20 (500020 | 20020
5 [5000x5 | 200x5 |

5,200
5200 x5
5200 x 5
5200 x 5
5,200 x 5
5,200 x 5

5,200 x 25

L

[T, BT, BV RV

Represent and compare methods using a bor
motdel.

170 x 11 171 x 11

1,870 + 11 = 170

170 x 12 17 x 110

Use factors to calculate efficiently.

5 x J6
=3x5x2x8
=3x8x2x5
= 24 x JO
=240

Multiplying by
10, 100 and
1,000

Use place value equipment to explore Understand how the exchange affects
exchange in decimal multiplication. decimal numbers on a place value grid.
T |0 |e Tth T|O| - Tth T[O] Tth L e Tth
JEEE 000| | [eEEP =00
OOO O+ 100O 0+— 00O
Represent 0-3. 6/00) @ +— OO 11000
OOV 000 099,
. |00 . [P . [0
QOO 0909 009
OO® 099 090
OO® OO 009
OOO 299 000
QOO 000 ©oo
Multiply by 10. Exchange each group
of ten tenths.
0,3 x 70 = ? T EON[ =R Ehith T|O || Tth | RON =l ETth
U] 3| = 3 3 |
0-3 is 3 tenths. e
10 x 3 tenths are 30 tenths. 0-3x10=3
30 tenths are equivalent to- 3 ones.

Use knowledge of multiplying by 10, 100
and 1,000 to multiply by multiples of 10,
100 and 1,000

& x 100 = 800
8 x 300 = 800 x 3
= 2,400
25 x70=25
25x20=25x1710x2
= 50

Multiplying

Explore decimal multiplications using place
value equipment and in the context of
Measures.

Represent calculations on a place value grid.

Use known facts to- multiply decimals.

4x3=12
4x03=12
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3 groups of 4 tenths is 12 tenths.
4 groups of 3 tenths is 12 tenths.

I3cm I-3cm -3 cm |13 cm

4 xTem=4cm
4 x03cm=12cm
4 x13=4+12=52cm

3 X 3 — q
3 X 03 — Oq
T O || Tth
.
Understand the link between multiplying
decimals and repeated addition.
1 ) . Tth +02 +02 +02 +02
. |©ee
[©0/0]

4 x 003 =072
20 x 5 =100
20 x 0-5 =170
20 x 005 =171

meh@@wqﬁmqhmwbwmm

I know that 18 x 4 = 72.
This can help me work out:
18x4=7

18 x04 =7
180 x 0-4 = ?

18 x 004 = ?

Use a place value grid to understand the

effects of multiplying decimals.
H | T | o [e]Tth[Hth
2x3 6 .
0:2x3 0 o 6
0-02x 3 .

Year 6
Divisi
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Understanding | Use equipment to explore different factors of | Recognise prime numbers as numhers Recognise and know primes up to 100.
factors o number. having exactly two factors. Understand the | Understand, that 2 is the only even prime,
link with division and, remainders. and that 1 is not a prime numbher.
goleleiciole
OlO[O[O|O[O[Ol0 | esesssse eeeee @eee lo/o oKL
[ ] DE
90900000 1 lan - (D[ 12 [(@3)] 14 | 15 | 16 |(17)] 18 |(9)[ 20
T 30 + 4 = 7 remainder 2 o 21 [22((23)| 24 | 25 | 26| 27| 28 |29)| 30
O
. . 7:2=8r I7+3=5r2  :hd=4rl 17:5=3r2 @ 3233343536 @ 38 40
4 is a factor of 24 but is not a factor of 30. Wi [ @ P @ o P
Dividing by @ | Use equipment to make groups from a total. H T 0 (“Howmany | © Use short division to divide by a single
single digit @® 000 |0e groups of 6 | 6 1 '3 2 digit.
0000000000000 —
gssssssesesss e e e g L
OOHEE) | 0@ gro'upsof67 6113 2 :
Sssresseseass poped ™ |\ el T
0000000000000 .
H T [} 'Howmuny\ 0 2 0 2
There are 78 in total. ’C(g_g% ég-gg-:"gi Orgerti)r:szzs::i? 6|1 '3"'2 61 '3 12
There are 6 groups of 13. o e | —
There are 13 groups of 6.
022
6|1 '3 "2

Use an area model to link multiplication and,
livision.

? 10 10 Il

6| 132 | 6 60 60 [6]s]

6x?=132 20 3
6| 120 [ 2]
132 = 120 + 12

32+:6=20+2=22
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Dividing by @ | Understand that division by factors can he | Use factors and repeated, division. Use factors and repeated division where
2-digit numher | used when dividing by a number that is not appropriate.
using factors prime. 1,260 + 14 = ?
2,100 =12 =72
1,260
1,260 + 2 = 630
630 + 7 = 90
1,260 + 14 = 90
Dividing by @ | Use equipment to build numhbers from Use an area model alongside written Use long division where factors are not
2-digit numher | groups. division to model the process. useful (for example, when dividing by a
using long 2-digit prime number).
division E E E E E E E E g E E E a E 377+ 13 =72 Write the required multiples to support the
THHAE A A THAH A R — division. process
10 ?
182 divided into groups. of 13, = I 377+13=7
There are 14 groups. o0 2
s o [ mo [ w | 0 B 2 39 52 65 78 9 6 7 130
0xI3 IxI3 2x13 3xI3 4xI13 5xI3 6x13 7xI13 8x13 9xI3 10x13
29 |
"o 0 q ! o
s o [ mo [ w | -1 3 0 10
2 4 7
377 + 13 =29 -1 3 0 10
[
-1 17 9
0 29
377 =13 =29

A slightly different layout may be used,
than at the side.
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Divisions with a remainder explored, in

Dividing by 10,
100 and 1,000

Use place value equipment to explore
division as exchange.

o Thth o | «| 1th | Hinh | Tk
) @8
Q0O
@0
@0
— OO
& @0
@0
@0
[@0)
o0

Divide 20 counters by 10.

Exchange each 0:| for ten 0-0ls.

0-2 is 2 tenths.

2 tenths is equivalent to-20 hundredths.
20 hundredths divided by 10 is 2
hundredths.

dividing by 10, 100 and, 1,000 on the digits
on a place value grid.

2
1
r . h h
(r2]i2]2]i2]i2]12]12]12]12]12] L ? . T; =
12x10 =12 W N

1-2

Understand how to divide using division hy
10, 100 and 1,000.

2+20=7

12
1

|-2[|-2||»2|l-zll-z]:-z||-z[|-2||-z[|z]]
[

HENNENRRRRRRRNNNNNE

oo

12:10=12 1'2:2=06

Use knowledge of factors to divide by
multiples of 10, 100 and 1,000.

w—( 20 ][ 5 J—>

w—[ 5 ][ 20 J—>

40+5=8
8+10 =08

So;, 40 = 50 = 08

Dividi

Use place value equipment to explore

Use a bar model to represent divisions.

Use short division to divide decimals with
up to 2 decimal places.
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each group.

8 tenths divided into 4 groups. 2 tenths in

4x2=8
S0,4x02=08

8+4=2
0-8+4=02

8

8

8

4 - 2 4
0.

4 % 4
0-5

4 +%2 %

W

0-5 3
4 -4 24

W
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